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Non-Verbal 1.Q. Tests Series

- = ¢ SIXY numbere
Select the correct [figure jrom the ed
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oN 273
" gr?;z rhr-: faw'!ul number of the figure which is
yrerent from the others in )
ol n the group in the

3 Insert the missing number:
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274 DOGAR'S 1S.§.8, v,
F State which of the given answer patlerns wil]
into the vacant space in the incomplete patiern. ¢

! ANSWER PATTERNS -
(a) {h}- () |

5 Name the serial number of two figures in Block ()
which bear the greatest resemblance to the figures

in Block (aX
(a) ' (b)
. (e

ANSWERS
alita R BEE B

i State the serial number of the figure in the second
row which fills the blank space in the following

T On e
A

—
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NON-VERBAL 1.Q. TESTS SERIES 276

a—

-

7. Insert the missing figure:

4P AN,
8. Name the serial number of the figure which will

. look like the first figure marked (X) when viewed in
a mirror: : |

@ (@

Name the serial number of the figure wh.ich wilﬂ
look like the first figure marked (X) when viewed in

a mirror:
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State the se
supplies the
following:

5 €D I

(a)

’.'!”1 "”F“h'-r' l',l"‘ fhl" fhn‘;rl.’ Lr.|1|.l.|'|n r-!l‘f”[,
fit in the blank space

figure to

ANSWER PATTERNS

(b)

DOGAR'S 158 "EE]
—

N

in

po ¢ B

e}

po

in

—--'-'
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r i

— = =

il State the serial number of the figure in th cecond
row which fills the blank space in the follpuAng
comparisons

A is to .\as . is to7

‘@)

(a) (b)

12, State the values of X in the following:

X !;
f |

255\ 3

127 = b -7
"'\.H“
i k. "JL

63 4 45

3
1 T T S T P e e
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? 278 DOGAR'S 1558, Tzﬁ

4 I3 State the serial number of the choice m“"" Whicy
supplies the figure to fit in the blank space i , h

following: .

®

~@

/\
O
ANVA'
s [a

AL

(a) (b) (d)
14.  State the serial number of the ﬁiuﬂ in the second
row which fills the blank space in the following
comparisons

(a) (b) (c) (d) :
15.  State which of the given answer patterns will fit
into the vacant space in the incomplete pattern:

ANSWER PATTE FlE

RN |

(@) j [ﬂl

=3
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..__.——'_' —\_.___‘_-_‘_-_-_-._-_-_ -

R 5:!];“ fhl_' ; ——— S —
f. serial

I row which fillg "II.:IThﬂr of the figure in the second

bl ;
comparisons: ank space in . Jollowing

A @@
AA®A

(a) (b} (c) (d)
\ Select th
J'F‘ nnc: € correct figure from the six numbered

()
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[WIW N T TR LT R T T ﬂ."l‘ g

; E315

State the serial number of the choice Ef'lff_;:;;‘“*«'
fit in the blank SPace in j;ﬁ
d

I8

supplies the figure lo
following:
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9. Insert the missing number:
/\
H (]

?,

50 14
W

20. ° Select the correct figure from the six numbered

ones
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3

DOGAR'S I.5.S 8. g,
— 5T

21. Insert the missing number:

9

22 Insert the iissing figure:
' 5

i

! e
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FI_III- Select the correc ”H““. J||" am the sl B i b ra
Oones

5 .-Ilnml]h.. +?'_|li—|:. +-
I d
+[|||“"'E|H|]| le +I +;@l |
J \
+.!'|"I 1® +I .P
d

ANSWERS
W@\J“'/ : Q. (e
WS SN \

4
LA 1
rfipe ¢ Mo -Oee.

5

4
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1 unLMIl'S I.E.E ﬂ 3
ey
: lg
Ay Name the seriol number of two figures “' “fur |
WAIch bear the greatest resemblance to the fiy fr;
in Mlock (u) ™
tﬂ lhj

1«'1&;\?1"»! o~ L 0F]
|ﬁ%]h0]£ gj ANSWE:IS .

-l State the seriol number of the figure in the secong
row which fills the blank space in the faﬂgwhg

comparisons:

S'SIEMMH@M Ok
VA §C

(a) (b) (c) (d)
D6. State the serial number of the choice gien which
supplies the figure to fit in the blank space in the

- following: 'ANSWERS

(a) (b) (W
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NON-VERBAL 1.Q. TESTS SERis 285

[a]
L3

State the serial numbper

supplies the figure |
following: e

of the choice given which
tin the blank space in the

ANSWER PATTERNS
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DOGAR'S 1.5.5 B, Tegy

25, f-"l.SrrI r.-"l.t{‘ n[fs;ing nimber and ﬁgu.r‘l’.‘ e
1P
A| S E | 11 1 |
2 C G 14| ?
|
2, Insert the missing figure: .
12 14 10 16 ‘
10 14
30, Insert the missing number:

_...‘
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NON-VERBAL 1.Q. TESTS SERIES 287
S
g1.  State the serial number of thé choice given which

supplies the figure to fit in the blank space in the
following:

hngm,

ANSWERS

i

(b) (€) (d) - . -(e)

g —

N
n
b
'\

[ ]
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—
n anser pﬂ.l‘il‘El"‘ﬂ-.E ulfﬂ ,ﬁl’

incomplete paillern:

32.  State which of the give
into the vacant space in the

ANSWER PAFTERNS

ﬁM % ! "*l_uw

(a) (b) (c) @

33. State the serial number of the choice given I:I'_.".'ﬂ:h
supplies the figure to fit in the blank space in the

& /A A
o Q) |
A 3%
B)|ElFN(@ER

——

_—
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NON-VERBAL 1.0, TESTS SERIES 289

4. Find the odd-man out:

7 % <3
o
B> O

35, State the serial number of the figure which is
different from the others in the group in the
following:

Lol
b

(N
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Slate Uu' se .rinf number of the rhf”"" Hiven lr.l'“ |I
supplies the fipure to fit In the blank space In IEJ'I
follaw ing:

J

@i‘: Mk m
£/ \g 5O g 2l

ANSWER PATTERNS

/0t #{Ot #2ls
(a) (b) f

%
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201

- e

.

@ P
) &
&) X

()

5

(c)

(A A

' B Name the serial number of

i k (ak
n Hh::] (b)

‘which bear the grealest résem blanc

State the serial number of the cholce given which
supplies the figure to fit in the blank space in the

O

5

A

(d)

two figures in Block (c)

e to the figures

Jaot [dole

f (c) ANSWERS
(o
R e,

i
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T
ol

2012

..Ill..J ,"“.rr “II it ””'.' '|“-|‘II i fil FH'.I'-I.

Flil Insert the missing number and figure:

3 F " 1
C T 1 T

41.  State the letter group of the number of stars in the
bracket which can be suffixed Uy the given
wordsletters group to form new words:

SW
G + (xxx)
1CL
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:E- State the serial number af

the.choice given which
supplies the figure to fit in 1k .
following: e blank space in the

A ¥

)
by

293

T
L

i }

(a) (b)

i

~4
e
i

v A (3)

o
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204 pOGAR'S 1G58 1pyq,

’ v following
o Siaie the value of P In 1 I i et g

ifligrama

44 State the serial number of the figure whizh loes noy

belong fo the groupy

; "
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NON-VERBAL 1.0, TESTS SERIES 206

§5. State the serial number of the cholce given which
supplies the figure to fit in the blank space in the
following:
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4 1 1_JHI..MI'TL 1.5.6.8 T“it:i

dii. Insert the misslng number,

47, Name the serial number of the figure which will
look like the first figure marked (X) when viewed in
a mirror:

D) [D)F (a] (a
E;.QDL_J[__]

(X} (a) (b) (e) (d)

48. Name the serial number of the figure which will
look Like the first figure marked (X) when viewed in

4B B&B

—
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44, State the serial number of the choice given which

supplies the figure to fit in the blank space in the
following: 3
-\.] 'I. 5 }I_' ]

(M) (A) 9]

-

-

N

.-'} [:‘ _.-"r.. ..', : ] -?.__
; [“-— . | A N
Lom, J f -
AR B
~2/(e) ?
™y ' o
: y \
g_ [;'.I (- de"'f_ Y r"’f h"||
Q . llII R, . .'I I."‘x . _.!
> it R S—
(a) (b) fe) o |
'Id_:‘ e i
I i'“‘». r_- : . wl |
Cl bRk |
{u_ . in

50. Insert the missing number:
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298 A 575
il Insert the missing figure
C N I R
e
L F P ?
a2. State the serial number of the choice given ;.uhj:f,
supplies the figure to fit in the blank space in the

following:

&

ANSWER PATTERNS
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NON-VERBAL 1.0, TESTS SERIES 299

AT,

P e —— —

Select the correct fgure from the six numbered
onRes.
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State the seriad number of the fi

= o L
row which fills the blank spact
comparisons

as

is to

M & 'lh
HEm & N = W

jure in the second
" in the following

Is to

T
o (Ml 5 M = I
MmE NSNS

=m=Em=m

(c)

(b)

55.  Insert the missing figure:
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_'_'_._._;—l
56. State the serial number of the cholce glven which

supplies the figuretio fit in the blank space in the
following:
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302 o

" ST, Insert the missing figure

g Select the correct figure [rom the six numbered

oneés

-,
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NON-VERBAL 1.Q. TESTS SERIES 303

s mmeom o swmieEs e me s m — S

5 State the seriad number of the choice pgiven which
.ﬁrJ.!!;Jfl.r'.ﬁ -”H.' l,lrll-g"lj'r'l." o ﬂf i the f”runh sPace i |'.|r|'I'
following:

ELTLET
W E o )
EMEINEN= |||H

1 ES M E @ = m
= (1 25 E o E
I B W2 B an

1T LIUETTL
I i

O

ANSWERS

T
EMZMEMWZ I

"L L
mEmsms
MEN=mS N

(f
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31,

Answers to Exercise

NON-VERBAL

(b)
(e)
20r4
(C)
2
(C)
(q)
(b)
(C)
(a)
(a)
1
(e)
(d)
(a)
(d)
(a)
(b)
96
(f)
(5)
(8)
(6)
2&4 .
(e)
()
()
17 and K
10
62
(c)

eem e S Femmee

(b)
(b)
T

(d)
(c)
()
2

1

L and 15
EAR

(c)
10
(d)
(a)
(9)

- (e)

(d)
()

191

(c)

(c)
60

(d)
(R)

(n
(c)

INTELLIGENCE TEST

32,
33.
d4,
Jb.
a6.
37.
38,
39,
40,
41.
42,
43.
44,
45,
46.
47,
48.
49,
50.
ol.
62.
b3d.

54.
55.
56.
57.

b8.
B69.
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